CITY OF EL PASO, TEXAS AGENDA ITEM DEPARTMENT HEAD'S SUMMARY FORM

DEPARTMENT:	Capital Improvement					
AGENDA DATE:	April 4, 2017					
CONTACT PERSON/PHONE:	Andrew Goh, City Engineer, (915) 212-1845 Mathew McElroy, Director of International Bridges (915) 212-1550 Bruce D. Collins, Purchasing Director, (915) 212-1811					
DISTRICT(S) AFFECTED:	6					
STRATEGIC GOAL: NO. 7	Enhance and Sustain El Paso Infrastructure Network					
SUBJECT:						
	44 Section 559 – Zaragoza Bridge "Ysleta Port of Entry" Commercial Island HAWK Construction for an estimated total award of \$272,463.70.					
BACKGROUND / DISCUSSION	<u>√:</u>					
primary inspection lanes. Work i	create a wider path of travel for northbound trucks entering the commercial includes the relocation and addition of several concrete safety barriers with ion of the site elements such as a steel pipe bollard gate, pavement markings ian.					
SELECTION SUMMARY:						
	bruary 7, 2017 and February 14, 2017. The solicitation was posted on City email (Purmail) notification was sent out on February 9, 2017. There were a swere received, all local vendors.					
PROTEST						
No protest received for this req	uirement.					
Protest received.						
COUNCIL REPRESENTATIVE	E BRIEFING:					
Was a briefing provided? Yes or No If yes, select the applicable districts.						
District 1 District 2						

PPS FORM 001, Rev. 3, 8/9/2016 (Discard Previous Versions)

☐ District 3 ☐ District 4 ☐ District 5 ☑ District 6 ☐ District 7 ☐ District 8 ☐ All Districts
PRIOR COUNCIL ACTION:
N/A
AMOUNT AND SOURCE OF FUNDING:
564-64840-532000-3305-PCP17IB002 Bridge Maintenance Fund 564-64870-532030-3360-PCP17IB002 Restricted Fund
BOARD / COMMISSION ACTION:
N/A

DEPARTMENT HEAD: Sugar Suglar for Andy Goh

COUNCIL PROJECT FORM (Low Bid)

Please place the following item on the **CONSENT AGENDA** for the Council Meeting of **APRIL 4**, **2017**.

STRATEGIC GOAL 7: Enhance and Sustain EL Paso's Infrastructure

The award of Solicitation 2017- 844 Section 559 – Zaragoza Bridge "Ysleta Port of Entry" Commercial Island Project to TAO Industries Inc., dba HAWK Construction for an estimated total award of \$272,463.70.

Department:

Capital Improvement

Award to:

TAO Industries, Inc., dba HAWK Construction

El Paso, TX

Item(s):

Αll

Initial Term:

75 Consecutive Calendar Days

Base Bid: Total Estimated Award: \$272,463.70 \$272,463.70

Account No.:

564-64840-532000-3305-PCP17IB002

564-64870-532030-3360-PCP17IB002

Funding Source:

Bridge Maintenance Fund and International Bridges Restricted

District(s):

6

This is a Low bid, unit price contract.

The Purchasing & Strategic Sourcing and the Capital Improvement Departments recommend award as indicated to TAO Industries, Inc., dba HAWK Construction the lowest responsive, responsible bidder.

It is requested that the City Manager be authorized to establish the funding sources and make any necessary budget transfers and execute any and all documents necessary for execution of this award.

Work under this unit price contract is only an estimated value and will be ordered, performed, invoiced, and paid by measured quantity. The actual cost of this contract may be higher or lower than the total estimated value and will be the sum total of unit prices at the end of the contract term.

As a part of this award, upon the review of the City Attorney, the City Engineer may without further authorization from City Council approve contract changes which are necessary for proper execution of the work and carrying out the intent of the project, which are in accordance with applicable law, do not make changes to the prices and are within the appropriate budget.





BID T		SECTION	1	E "YSLETA PORT OF ENTRY" CO	OMMERCIAL ISLAND	PROJECT	BID NO: 2017-844 DEPARTMENT: CA			
		and the second			BLACK STALLION CONTRACTORS, INC		TAO INDUSTRIES, INC D.B.A HAWK CONSTRUCTION		KEYSTONE GC, LLC	
			12 10 10 10 10 10 10 10 10 10 10 10 10 10		ELPA	SO, TX	EL PA	SO, TX	EL PA	SO, TX
45 (\$5.00)			#600 (NIRSKI) \$779 (470 \$290 to 1		11	R 1 OF 4	Ü	R 2 OF 4	BIDDE	R 3 OF 4
in diver				Programme BAS		RICE SCHEDU				
ITEM #	EST QTY	UNIT	BRIEF DES	CRIPTION OF ITEM	UNIT BID PRICE	TOTAL AMOUNT (Qty x UNIT PRICE)	UNIT BID PRICE	TOTAL AMOUNT (Qty x UNIT PRICE)	UNIT BID PRICE	TOTAL AMOUNT (Qty x UNIT PRICE)
1.	84	LF	REMOVE C	ONCRETE CURB	\$7.50	\$630.00	\$9.00	\$756.00	\$11.59	\$973.56
2.	153	LF	REMOVE CONCRI	TE (TRAFFIC BARRIER)	\$31.25	\$4,781.25	\$20.50	\$3,136.50	\$34.96	\$5,348.88
3.	120	LF		RELOCATE RAIL ARRIER W/FENCE)	\$68.75	\$8,250.00	\$59.00	\$7,080.00	\$122.42	\$14,690.40
4.	1	EA	REMOVE STEEL	PIPE BOLLARD GATE	\$1,875.00	\$1,875.00	\$1,140.00	\$1,140.00	\$2,351.09	\$2,351.09
5.	244	SY	REMOVE CO	NCRETE (MEDIAN)	\$20.00	\$4,880.00	\$46.00	\$11,224.00	\$117.46	\$28,660.24
6.	335	LF	REMOVE	STEEL I-BEAM	\$18.75	\$6,281.25	\$15,00	\$5,025.00	\$31.87	\$10,676.45
7.	9	EA	REMOVE	DELINEATOR	\$93.75	\$843.75	\$6.30	\$56.70 CONTRACTOR'S PRICE \$56.90	\$103.89	\$935.01
8.	1	EA	REMOVE CHAI	NLINK FENCE (GATE)	\$625.00	\$625.00	\$600.00	\$600.00	\$675.01	\$675.01
9.	9	SF	1 2	POST STUB AND REPAIR VEMENT	\$187.50	\$1,687.50	\$175.00	\$1,575.00	\$173.34	\$1,560.06
10.	158	SY		TING LANDSCAPING SCREENING)	\$10.00	\$1,580.00	\$15.00	\$2,370.00	\$30.77	\$4,861.66





i	ID TITLE: SECTION 559- ZARAGOZA BRIDGE "YSLETA PORT OF ENTRY" COMMERCIAL ISLAND PROJECT ID DATE: March 8, 2017				DMMERCIAL ISLAND	PROJECT	BID NO: 2017-844 DEPARTMENT: CAPITAL IMPROVEMENT			
150 (150 kg) 1900 (250 kg)						CONTRACTORS,		, INC D.B.A HAWK RUCTION	KEYSTON	E GC, LLC
					EL PA	SO, TX	EL PA	SO, TX	ELPA	SO, TX
100045005						R 1 OF 4	ll	R 2 OF 4	BIDDEF	R 3 OF 4
300000	51,805 (MS) (SV)	(40.557.VSV FC		BASI	14,000 40000 10 1000 0	RICE SCHEDU	The activities are presented processing		80,54 - 19,000 = 110,000 (8),000 I	10.86 (1) (380890 (39.165))
ITEM #	EST QTY	UNIT	BRIEF DESCRI	IPTION OF ITEM	UNIT BID PRICE	TOTAL AMOUNT (Qty x UNIT PRICE)	UNIT BID PRICE	TOTAL AMOUNT (Qty x UNIT PRICE)	UNIT BID PRICE	TOTAL AMOUNT (Qty x UNIT PRICE)
11.	1,450	EA	ELIM EXT PAV N	MRK & MRKS (4")	\$1.25	\$1,812.50	\$1.10	\$1,595.00	\$0.95	\$1,377.50
12,	1	ÉA	ELIM EXT PAV MR	K & MRKS (ARROW)	\$62.50	\$62.50	\$210.00	\$210.00	\$184.10	\$184.10
13.	407	SY		EINFORCED CONCRETE ENT (HES)	\$100.00	\$40,700.00	\$140.00	\$56,980.00	\$160.89	\$65,482.23
14.	68	TONS	3" D-GR HMA	TY-B PG 70-22	\$187.50	\$12,750.00	\$133.00	\$9,044.00	\$290.15	\$19,730.20
15.	123	GAL	PRIME COA	AT (CSS-1H)	\$68.75	\$8,456.25	\$13.50	\$1,660.50	\$16.97	\$2,087.31
16.	210	LF	• A	BARRIER (F SHAPE) (W/ NCE)	\$225.00	\$47,250.00	\$110.00	\$23,100.00	\$222.04	\$46,628.40
17.	407	SY	6" PRIME TREAT	TED SUBGRADE	\$25.00	\$10,175.00	\$10.50	\$4,273.50	\$13.76	\$5,600.32
18.	1	EA	PROPOSED STEEL F	PIPE BOLLARD GATE	\$5,000.00	\$5,000.00	\$17,800.00	\$17,800.00	\$16,921.83	\$16,921.83
19.	1	EA		CHAINLINK FENCE GATE /ING)	\$5,000.00	\$5,000.00	\$13,400.00	\$13,400.00	\$7,977.37	\$7,977.37
20.	94	LF	NEW CONC	RETE CURB	\$25.00	\$2,350.00	\$13.75	*\$1,292.50	\$9.75	\$916.50





BID TITLE: BID DATE:		SECTION March 8	N 559- ZARAGOZA BRIDGE "YSLETA PORT OF ENTRY" C . 2017	BID NO: 2017-844 DEPARTMENT: CAPITAL IMPROVEMENT						
2.000 (20 12.00 (30	1 0 1			OH .	BLACK STALLION CONTRACTORS, INC		TAO INDUSTRIES, INC D.B.A HAWK CONSTRUCTION		KEYSTONE GC, LLC	
					SO, TX R 1 OF 4		SO, TX R 2 OF 4	1	SO, TX ₹3 OF 4	
2.4856	. Alexandra (Ignati	G DOS STATE	BAS	E BID - UNIT PI	RICE SCHEDU	LE	AT ASSESSION OF A SECURIOR			
ITEM #	EST QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT BID PRICE	TOTAL AMOUNT (Qty x UNIT PRICE)	UNIT BID PRICE	TOTAL AMOUNT (Qty x UNIT PRICE)	UNIT BID PRICE	TOTAL AMOUNT (Qty x UNIT PRICE)	
21.	340	LF	LOW PROFILE CONCRETE TRAFFIC BARRIER (TYPE 1) (FURNISH & INSTALL)	\$187.50	\$63,750.00	\$99.00	\$33,660.00	\$122.58	\$41,677.20	
22.	20	LF	LOW PROFILE CONCRETE TRAFFIC BARRIER (TYPE 2) (FURNISH & INSTALL)	. \$200.00	\$4,000.00	\$200.00	\$4,000.00	\$186.00	\$3,720.00	
23.	1	EA	LOW PROFILE TO F SHAPE TRANSITION	\$4,000.00	\$4,000.00	\$6,400.00	\$6,400.00	\$9,736.06	\$9,736.06	
24.	200	LF	REFL PAV MRK TY I (W) 4" (BRK)	\$2.50	\$500.00	\$4.25	\$850.00	\$3.69	\$738.00	
25.	200	LF	REFL PAV MRK TY II (W) 4" (BRK)	\$2.50	\$500.00	\$2.80	\$560.00	\$2.46	\$492.00	
26.	500	LF	REFL PAV MRK TY I (W) 4" (SLD)	\$2.50	\$1,250.00	\$4.25	\$2,125.00	\$3.69	\$1,845.00	
27.	500	LF	REFL PAV MRK TY II (W) 4" (SLD)	\$2.50	\$1,250.00	\$2.80	\$1,400.00	\$2.46	\$1,230.00	
28.	700	LF	PAV SURF PREP FOR MRK (BLAST CLN) (4")	\$3.75	\$2,625.00	\$1.00	\$700.00	\$0.68	\$476.00	
29.	545	LF	QWICKKURB RAISED SEPARATOR WI40" TALL BOLLARD	\$125.00	\$68,125.00	. \$90.00	\$49,050.00	\$78.82	\$42,956.90	





	BID TITLE: SECTION 559- ZARAGOZA BRIDGI BID DATE: March 8, 2017			E "YSLETA PORT OF ENTRY" CO			BID NO: 2017-844 DEPARTMENT: CAPITAL IMPROVEMENT			
0.00.70					BLACK STALLION CONTRACTORS, INC		TAO INDUSTRIES, INC D.B.A HAWK CONSTRUCTION		KEYSTONE GC, LLC	
						SO, TX R 1 OF 4	EL PASO, TX BIDDER 2 OF 4		EL PASO, TX BIDDER 3 OF 4	
NAME OF	1970 (537) (37)		de ipase de dinas (Legis)	BASI	E BID - UNIT PI	RICE SCHEDU	LE .			
ITEM #	EST QTY	UNIT	BRIEF DES	CRIPTION OF ITEM	UNIT BID PRICE	TOTAL AMOUNT (Qty x UNIT PRICE)	UNIT BID PRICE	TOTAL AMOUNT (Qty x UNIT PRICE)	UNIT BID PRICE	TOTAL AMOUNT (Qty x UNIT PRICE)
30.	10	LF	INSTALL AND REMOV	E EROSION CONTROL LOGS	\$18.75	\$187.50	\$40.00	\$400.00	\$28.56	\$285.60
	SUM TOTAL BASE BID 1 (ITEMS 1 THROUGH 30)		\$311,177.50		\$261,463.70		\$340,794.88			
٨	MOBILIZATION (NOT TO EXCEED 5% OF THE TOTAL BASE BID 1)			\$12,447.10 \$11,000		00.00	\$12,2	86.69		
SUM TOTAL (BASE BID 1 AND MOBILIZATION)		\$323,624.60		\$272,463.70		\$353,081.57				
AMEN	IDMENT	S NO. 1,	2 & 3 ACKNOWLEDGED	:	YES		YES		YES	
BID B	OND SUI	вміттєї	D		YES		YES		YES	







	- 11					BID NO: 2017-844 DEPARTMENT: CAPITAL IMPROVEMENT			
BID D	D DATE. Water 6, 2017				TOTAL INC	DEFARTMENT. CA	FITAL INFROVENCE		
				LESNA CONST	RUCTION, INC.				
				łł.	SO, TX				
8.016.3		1. 18.00 62.			R 4 OF 4 RICE SCHEDU				
			BAS	UNIT BID	TOTAL AMOUNT	UNIT BID	TOTAL AMOUNT	UNIT BID	TOTAL AMOUNT
ITEM #	EST QTY	UNIT	BRIEF DESCRIPTION OF ITEM	PRICE	(Qty x UNIT PRICE)	PRICE	(Qty x UNIT PRICE)		(Qty x UNIT PRICE)
1.	84	LF	REMOVE CONCRETE CURB	\$10.00	\$840.00	<u>ng til standing og stalt til standing og er til eg er t</u>	\$0.00	Aceta ete pet e sui e , a Magne es	\$0.00
2.	153	LF	REMOVE CONCRETE (TRAFFIC BARRIER)	\$50.00	\$7,650.00		\$0.00		\$0.00
3.	120	LF	REMOVE & RELOCATE RAIL (TRAFFIC BARRIER WIFENCE)	\$60.00	\$7,200.00		\$0.00		\$0.00
4.	1	EA	REMOVE STEEL PIPE BOLLARD GATE	\$3,000.00	\$3,000.00	,	\$0.00		\$0.00
5.	244	SY	REMOVE CONCRETE (MEDIAN)	\$50.00	\$12,200.00		\$0.00		\$0.00
6.	335	LF	REMOVE STEEL I-BEAM	\$25.00	\$8,375.00		\$0.00		\$0.00
7.	9	EA	REMOVE DELINEATOR	\$45.00	\$405.00		\$0.00		\$0.00
8.	1	EA	REMOVE CHAINLINK FENCE (GATE)	\$1,200.00	\$1,200.00		\$0.00		\$0.00
9.	9	SF	REMOVE EXISTING POST STUB AND REPAIR PAVEMENT	\$85.00	\$765.00		\$0.00		\$0.00
10.	158	SY	REMOVE EXISTING LANDSCAPING (ROCK/SCREENING)	\$18.00	\$2,844.00		\$0.00		\$0.00





SECTION 559- ZARAGOZA BRIDGE "YSLETA PORT OF ENTRY" COMMERCIAL ISLAND PROJECT BID NO: 2017-844 **BID TITLE:** DEPARTMENT: CAPITAL IMPROVEMENT March 8, 2017 BID DATE: LESNA CONSTRUCTION, INC. EL PASO, TX BIDDER 4 OF 4 BASE BID - UNIT PRICE SCHEDULE **UNIT BID** TOTAL AMOUNT **UNIT BID TOTAL AMOUNT UNIT BID TOTAL AMOUNT** ITEM **EST** UNIT **BRIEF DESCRIPTION OF ITEM** PRICE PRICE (Qty x UNIT PRICE) PRICE (Qty x UNIT PRICE) (Qty x UNIT PRICE) QTY \$1.00 \$0.00 \$0.00 11. 1,450 EΑ **ELIM EXT PAV MRK & MRKS (4")** \$1,450.00 \$200.00 \$200.00 \$0,00 \$0.00 12. **ELIM EXT PAV MRK & MRKS (ARROW)** 1 EΑ 12" CONTINOUSLY REINFORCED CONCRETE 13. SY \$160.00 \$65,120,00 \$0.00 \$0.00 407 PAVEMENT (HES) 14. TONS 3" D-GR HMA TY-B PG 70-22 \$250.00 \$17,000.00 \$0.00 \$0.00 68 GAL PRIME COAT (CSS-1H) \$12.00 \$1,476.00 \$0.00 \$0.00 15. 123 CONCRETE SAFETY BARRIER (F SHAPE) (W/ \$0.00 16. 210 LF \$185.00 \$38,850.00 \$0.00 FENCE) \$7,326.00 \$0.00 \$0.00 17. SY 6" PRIME TREATED SUBGRADE \$18.00 407 \$0.00 PROPOSED STEEL PIPE BOLLARD GATE \$14,500.00 \$14,500.00 \$0.00 18. 1 EA **FURNISH AND INSTALL CHAINLINK FENCE GATE** 19. EΑ \$4,500.00 \$4,500.00 \$0.00 \$0.00 1 (SWING) **NEW CONCRETE CURB** \$25.00 \$2,350.00 \$0.00 \$0.00 LF 20. 94

Approved By Date: 3/17





BID T		SECTION March 8	N 559- ZARAGOZA BRIDGE "YSLETA PORT OF ENTRY" CC , 2017	DMMERCIAL ISLAND	PROJECT	BID NO: 2017-844 DEPARTMENT: CA	PITAL IMPROVEMEN	¥T	
10.250				LESNA CONST	RUCTION, INC.				
			BASI	BIDDEF	SO, TX R 4 OF 4 RICE SCHEDU	I ₽		-	
ITEM #	EST QTY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT BID PRICE	TOTAL AMOUNT (Qty x UNIT PRICE)	UNIT BID PRICE	TOTAL AMOUNT (Qty x UNIT PRICE)	UNIT BID PRICE	TOTAL AMOUNT (Qty x UNIT PRICE)
21.	340	L F	LOW PROFILE CONCRETE TRAFFIC BARRIER (TYPE 1) (FURNISH & INSTALL)	\$75.00	\$25,500.00		\$0.00		\$0.00
22.	20	LF	LOW PROFILE CONCRETE TRAFFIC BARRIER (TYPE 2) (FURNISH & INSTALL)	\$90.00	\$1,800.00		\$0.00		\$0.00
23.	1	EA	LOW PROFILE TO F SHAPE TRANSITION	\$2,600.00	\$2,600.00		\$0.00		\$0.00
24.	200	LF	REFL PAV MRK TY I (W) 4" (BRK)	\$2.00	\$400.00		\$0.00		\$0.00
25.	200	LF	REFL PAV MRK TY II (W) 4" (BRK)	\$1.50	\$300.00		\$0.00		\$0.00
26.	500	ᄕ	REFL PAV MRK TY I (W) 4" (SLD)	\$1.80	\$900.00		\$0.00		\$0.00
27.	500	LF	REFL PAV MRK TY II (W) 4" (SLD)	\$1.50	\$750.00		\$0.00		\$0.00
28.	700	LF	PAV SURF PREP FOR MRK (BLAST CLN) (4")	\$1.00	\$700.00		\$0.00		\$0.00
29.	545	LF	QWICKKURB RAISED SEPARATOR W/40" TALL BOLLARD	\$180.00	\$98,100.00		\$0.00		\$0.00





BID TI	TLE:	SECTIO	N 559- ZARAGOZA BRIDGĘ "YSLETA PORT OF ENTRY" C	OMMERCIAL ISLAND	PROJECT	BID NO: 2017-844			
BID DA	ATE:	March 8	, 2017	ļ.		DEPARTMENT: CAPITAL IMPROVEMENT			
				LESNA CONST	LESNA CONSTRUCTION, INC.		,		
				.SO, TX R 4 OF 4					
SINGRA			BAS		RICE SCHEDU	LE (September 1995)		2. spresioenio secció	
ITEM	EST			UNIT BID	TOTAL AMOUNT	UNIT BID	TOTAL AMOUNT	UNIT BID	TOTAL AMOUNT
#	QTY	TINU	BRIEF DESCRIPTION OF ITEM	PRICE	(Qty x UNIT PRICE)	PRICE	(Qty x UNIT PRICE)	PRICE	(Qty x UNIT PRICE)
30.	10	LF	INSTALL AND REMOVE EROSION CONTROL LOGS	\$15.00	\$150.00		\$0.00		\$0.00
SUM TOTAL BASE BID 1 (ITEMS 1 THROUGH 30)		\$328,451.00		\$0.00		\$0.00			
MOBILIZATION (NOT TO EXCEED 5% OF THE TOTAL BASE BID 1)		\$16,422.55							
SUM TOTAL (BASE BID 1 AND MOBILIZATION)		\$344,873.55		\$0.00		\$0.00			
AMEN	DMENT	S NO. 1,	2 & 3 ACKNOWLEDGED:	YES				-	
BID B	BID BOND SUBMITTED		YES						

Views

		views
	(BID	# 2017-844)
	Name	Company
1	Frank, Watson	Advanced Starlight I
2	Kreindler, Daniel	AGTEK Development Co
3	Rugh, John	AMTEK
4	Kevin, Farley	Apex Highway Service
5	Ferguson, Garett	Arcadis
6	McGlohon, David	Arrow Building Corp.
7	Fernandez, Robert	Arrow construction
8	Aros, Ricardo	ARUSA Enterprises
9	Leanos, Nancy	Aztec Contractors, I
10	Beauregard, Brian	Balfour Beatty Commu
11	Denney, Dale	Banes General Contra
12	Perez, gabriel	Beltran Group
13	Nava, Vicente	Best Iron Works And
14	Guardado, Carlos	Best Ironworks
15	Dan, Jackson	BidClerk
16	Kurt, Pitzer	BidNet
17	Brandenburg, Leslie	Big R Bridge
18	Luna, Hector	Black Stallion Const
19	Hernandez, Beto	Border Demolition, I
20	Hessney, Steve	Bowen Industrial Con
21	aguilar, francisco	burman construction
22	WEIDENFELLER, WOLFGANG	${\tt C~\&~C~ROAD}$ CONSTRUCTION, INC.
23	Molina, Marcos	CAndC Road Construct
24	Elmore, Fitzgerald	Cascade Car Wash
25	Candee, Kim	CF Jordan Constructi
26	matthew, schindler	cloverleaf corporation
27	comaduran, richard	comaduran constructi
28	Gibson, Patty	construction Bid Sou
29	Wood, Jane	Construction Reporte
30	TYREE, BRUNO	CONTRACTOIRS & ENGIN
31	Stallard, Robert	CSA Constructors
32	Cevin, Currey	Currey Adkins
33	Lara, Eric	Danny Sander Constru
34	Mallari, Herold	Deltek Inc.
35	Hernandez, Ryan	DM PROPERTY MAINTENA
36	Treto, Breanna	Dodge Data And Analy
37	peggy, koehn	Dodge Reports
38	Soto, Alex	DRS Rock Materials L
39	Alvarez, David	Eagle Construction

EIS-Member of the Vi

Empire welding And F

Encon International.

Essential Landscapin

Evergreen Lawn Servi

40 Waddell, Gray

42 Munoz, Audrey

43 Carlos, Aranda

44 Gonzalez, Mario

41 Velazquez, Joshua

45 Sanchez, Lineth Green Globe Environm

46 Justin, Wilkes Haydon

47 Matt, Carpenter Haydon Building Corp
48 Wilson, Yvonne Hendee Enterprises I
49 Abay, Nick Hensel Phelps

50 Mejia, Saul Horizone Constructio
51 Gutierrez, Mike Integrated Technolog
52 Gonzalez, Carlos IRON WORKERS

53 Kevin, Gillman iSqFt

54 LegerBaillio, Lisa IW Incorporated

55 NAVAR PAYAN, ELEAZAR J.A.R. CONSTRUCTION

56 Poduska, Martin J.D. Abrams, LP

57 Contreras, Bardo JAG

58 Lowrance, Gloria Jobe Materials

59 Armstrong, Steve Jordan Foster Constr 60 Sanchez, Silvia Just Sprinkler Repai

61 CAMPOS, JESUS

62 Robles, Nancy

63 Velasco, Monica

64 Pineda, Rey

C5 restings supports

65 martinez, avelardo martinez irrigation
66 Medina, Mercedes Mirador Enterprises
67 Harper, Damon Monhar Construction

68 Brower, Eric Mr.
69 Stange, Ashley MTI

70 Boulton, Melany OHL USA

71 arzaga, jesus pmi

72 leos, juan
73 Felix, Lupe
74 Bid Clerk, Bid Clerk
75 Prime Irrigation And Prime Vendor Inc.

75 Ted, Parson Qwick Kurb

76 Vasquez, Gustavo Southwest Drywall an 77 Rolando, Caldera Stinger Bridge and I 78 Kirk, Yoshida Strategic Partnershi 79 Wang, Jon Team Designers and A 80 Acosta, George The Acosta Group, LL 81 Hernandez, Cecilia The Planit Room 82 Lewis, Linda Traffic Control Spec 83 Tyler, Ann Tricon Precast

83 Tyler, Ann Tricon Precast
84 Carreon, Manuel Tri-State Electric L
85 Urquieta, manuel UNKS Construction, I

86 Loya, Abraham VEMAC 87 Rigoberto, Renteria Vemacaone1

88 Armando, Rodríguez

89 Ruiz, Erika

90 Chambers, Lorri

91 Duncan, Chris

Venegas Engineering

Vertex Contractors L

Virtual Builders Exc

Vista Star, Inc.

92 Ceniceros, Karina

93 Johnson, Kesha

94 vaquera, Margaret

95 Royo, Joaquin

96 Campos, Francisco

97 Banquil, Lovely

98 Howard, Enid

99 Padilla, Ryan

100 Management, Source

Western Precast Conc

WTAGC

yucca construction

ztex

ZTex Construction In